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QUESTION 1

Which of the following statements about VPWS service on a Nokia 7750 SR is FALSE? 

A. VPWS is a simple point-to-point service. 

B. VPWS emulates a Layer 2 connection between two customers. 

C. VPWS does not perform MAC learning. 

D. VPWS encapsulates Layer 2 frames into IP datagrams. 

Correct Answer: D 

 

QUESTION 2

Which of the following describes an IP filter on the Nokia 7750 SR? 

A. An IP filter is used to discard packets with checksum errors. 

B. An IP filter can allow IP packets into a network or deny IP packets from entering a network. 

C. Multiple ingress and egress filter policies can be applied to a network interface. 

D. Once an IP filter is applied, it cannot be modified. 

Correct Answer: B 

 

QUESTION 3

What is the purpose of the broadcast address? 

A. Provides an address that refers to all the devices in a given network. 

B. Provides an address to refer to a specific group of devices in a given network. 

C. Provides an address to refer to a group of devices having the same IP addresses in different Layer 2 networks. 

D. Provides an address to refer to a single device on a given network. 

Correct Answer: A 

 

QUESTION 4

At what stage in the packet forwarding process, is the IP packet header examined? 

A. When the router first receives a frame from a LAN. 

B. After the forwarding table is checked. 
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C. After the IP datagram is extracted from the L2 frame. 

D. Immediately before the IP packet is encapsulated for transmission. 

Correct Answer: C 

 

QUESTION 5

Which of the following is NOT a characteristic of the Internet protocol layer? 

A. It provides a unique addressing scheme to identify hosts. 

B. It provides a user interface to the network. 

C. It uses routing protocols for path determination. 

D. It provides end-to-end forwarding of datagrams. 

Correct Answer: B 
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